SA: 2X™ 2
HM: QX ESA9 2XJ|I8t RE(ASEX/ALE 2 X L Bt
oot HF =SXEY E4 (el @2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
S XA 2 754,369, 145 720,223,186 34,145,959
= 544,821,030
Xl 7,436,000
Jl 5,459,649
= 196,652,466
Z=Q X A9 2XII8 RE (MBS /A =X LEH 14,965,579 15,271,654 A 306,075
= 4,571,666
Xl 7,436,000
Dl 979,200
= 1,978,713
A& EXEE =4 14,575,343 14,825,230 A\ 249,887
= 4,571,666
Xl 7,436,000
J| 979,200
o 1,588,477
ASI S X Y =X 209,932 208,736 1,196
201 et 9| 19,000 21,000 A 2,000
01 AR 22l ] 19,000 21,000 A 2,000
OAS =S X Al O 9,000
OAIZIEX HMRME 823 29 3,000
OMIESXNREG 29 7,000
202 04| 58,000 58,000 0
01 2L I 15,000 15,000 0
oKX EX&d =48 =& 15,000
04 =Ml st dl 43,000 43,000 0
Ol XX HXOHY YL SESEAS 43,000
203 ¥ 2 =&XH| 55,000 72,000 A 17,000
03 Al =& 2 = X H| 55,000 72,000 A 17,000
OMS2XNSEAIZ =& 55,000
301 LBt A= 1,932 1,736 196
08 MBI ERRIBAZ 1,932 1,736 196
OAMNSELREA SAH| 1,932
307 QI2t0| ™ 28,000 8,000 20,000
11T A EXAIEEX 28,000 8,000 20,000
OAZIEXNAI E4NE X 20,000
OLR T AMI=XAU X 8,000
308 XAXIGHH SO0l & 48,000 48,000 0
01 XHHIMNEXZ 48,000 48,000 0
OAZIEXANE S XS 48,000
NSE=SX ALY I8t &4 672,110 575,910 96,200
201 et 9| 7,700 6,000 1,700




SN =NEH
Bu: 22 F49 =X DE(MS=T/AE =T
el H8 =XE83 24 (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
01 At 22l 7,700 6,000 1,700
OASEHEMY =& 4,700
O3 Y=XNXNACAS F& 3,000
202 O4dl 9,000 9,000 0
01 =S LHA YI 9,000 9,000 0
OXNG=RAY =2 9,000
307 2I2t0l A 303,410 303,410 0
05 RIZHRI &3 70,000 70,000 0
OZRET Atg=EXsl2 AE2Y 70,000
10 M3 SXNANEHIS2IHEXR 168,410 168,410 0
OZ3AZ A =EXEE 29 123,410
Q&FY|EEYWT 2JH 45,000
11 AMSSIAIEE X 65,000 65,000 0
OL3AEANBE=EXNSS233 29 50,000
OL3 T AsI=Xts XA 15,000
308 KX SOIA 352,000 257,500 94,500
01 AXNHHEBAMNEES 352,000 257,500 94,500
OAl - 2 At2IEXIEo3 29 234,000
ZFEON 29 10,000
OXNG A 2EHEAM &4st 108,000
MIIBESI ALY =& 105,000 95,000 10,000
307 21201 A 105,000 95,000 10,000
10 M2 SXNANEHEI2IHEX 105,000 95,000 10,000
OLAZAZBAFBHEH 2 105,000
ANAMEBEHEOAM 2F 843 NA(=12) 11,000 12,500 21,500
= 11,000
307 glz2tol & 11,000 12,500 A 1,500
= 11,000
11T ASI S AAEE = 11,000 12,500 A 1,500
OXNIABEHE AN 435 X 11,000
= 11,000
A =XIelg ety XA (=1) 2,940,000 3,067,750 AN127,750
= 2,940,000
308 XXl S0l A 2,940,000 3,067,750 AN127,750
= 2,940,000
01 IXNHHBANEES 2,940,000 3,067,750 A127,750
OAMz=XeE oAy X & 2,940,000
= 2,940,000
SHsS UEE SEAMEIA XA (=ZD) 682,080 151,200 530,880
= 682,080




SN =SXHHD

Hz: QX ZSAQ =2XJIE E(AA=X/AHe =X L)
@ dE 2X&EE =4 (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2

308 AXISHXMSO0IH 682,080 151,200 530,880
= 682,080

01 HXHNBMNEXTZ 682,080 151,200 530,880
OsHs Y58 SEMEIA X 682,080
= 682,080

SSTAtEI 22| A Q1A X&) (=D) 803,586 777,828 25,758
= 803,586

308 AXISHAMSOIH 803,586 777,828 25,758
= 803,586

01 IXHHIMNEXS 803,586 777,828 25,758
OSE At &AL 21 2AHl K& 803,586
= 803,586

ANZF SsAd 22 X (=21) 135,000 135,000 0
= 135,000

308 XX SHAHSOIH 135,000 135,000 0
= 135,000

01 AIXHMBAEXZ 135,000 135,000 0
OANZF EES A2 X 135,000
= 135,000

2Ol EXAHA FEXR(21D) 979,200 0 979,200
Dl 979,200

403 XX S S K201 A 979,200 0 979,200
J| 979,200

01 HXHNMAHEE = 979,200 0 979,200
OO EXNAMEIA IHEAH 979,200
Dl 979,200

KNEXESE AMSIAHHA EXAY (BEX)(MEH)(=2D) 7,747,435 9,511,306 N 1,763,871
Xl 7,233,000
& 514,435

308 X SHAMSOIA 7,747,435 9,511,306 N 1,763,871
Xl 7,233,000
& 514,435

01 HXHHBIMNEXS 7,747,435 9,511,306 N 1,763,871
OXSAMI MEIAEXAY XA 6,189,322
N 5,732,000
& 457,322
OJIAZIY &2 K& 729,300
Xl 729,300
O/t - AlMOF A2 22l K& 774,113
Xl 717,000
= 57,113
OXEAMIMEIAEIAY 2HH A& 54,700
Xl 54,700




2N

EPARSE )

FM: 2L SHO SXIIE AF(ASSX/ALS S XL e
oot HF =SXEY E4 (el @2)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
NETEE MIAMEA EXNAIYG (BEX)(ME)(ZD 290,000 290,000 0
(HE)
Xl 203,000
< 87,000
202 044l 6,000 6,000 0
Xl 4,200
< 1,800
01 SLHOYI 6,000 6,000 0
OXNGAS MHIASETIAYE =& 6,000
Xl 4,200
S 1,800
307 gl2tol & 284,000 284,000 0
Xl 198,800
< 85,200
11T M 2XALSE EX 284,000 284,000 0
OZJAZTXNAMIMEIAXAH 2 284,000
Xl 198,800
< 85,200
EXAE &5 29X 390,236 446,424 A 56,188
AMEIEXAE 28 =& 390,236 446,424 A 56,188
307 glz2tol & 46,100 46,100 0
11T MIZSXASEEX 46,100 46,100 0
O E? ASI=XAIE SAX SX+E 41,400
OZTg At =S a F&2s A3S 4,700
308 AHAIEHHSOIA 329,136 350,324 A21,188
01 HIXNHHNBMNEELS 329,136 350,324 A21,188
OAl - ASISXAIE BAX E2EX=E 263,736
OZgAsl=SX2 45 X& 18,000
QM2 A DAL K& 26,400
OMEISXIAE SAA doil2e Jtd XI& 21,000
403 A X EHHS =0l A 15,000 50,000 235,000
01 X EHHMA=LE L 15,000 50,000 /35,000
OSEASEXNZ JIsEZ 15,000
BELAATH SHI(AMI=SX/EE) 711,300 702,700 8,600
SEd2AMH XA 711,300 702,700 8,600
E2HHd XNE ¥ EEMY FA 459,300 502,700 A 43,400
201 Let24d] 9,000 9,000 0
01 At 22l 9,000 9,000 0
OLJAB=UHL =41 &L 9,000
307 I+l & 408,700 438,700 A 30,000
03 BIAHMNHE2IHIEEL 135,000 135,000 0




SA SXNEHD
Y SEHYRY FHS(MIA=ZX/EE)
oSl BEMUAY X EEEEED
2A-F3H-H2A(3) - MY - BES Ofl & oH %Ei Hns2Z
CEEENIEEEINEICEELD 135,000
10 MBI =X A LEE A 25X 50,000 50,000 0
0% 22352 2% XA 50,000
11 MBI = XA B X 223,700 253,700 ~30,000
OA0I2Z S2E YL 24 N 84,000
©6.25 HHSA 0120 I2SA XL 32,000
OBECH BAHS N (SHSH) 107,700
308 X+ Xl £ & S0 & 41,600 55,000 A13,400
01 X SHI AR EZ 41,600 55,000 A 13,400
ORIB7T=E 625 J|E &AL XA 20,000
OSEREN - RS 24 X 15,000
OSURIN QX KT &F X 6,600
A2 22352 522 X 252,000 200,000 52,000
403 X SHS X =0l & 252,000 200,000 52,000
01 REXI SRR 8 X 252,000 200,000 52,000
OFHA HESA Y Y X 50,000
OHEE U Js22 X 100,000
0OS4+YLRBNs JIs2L N 15,000
oMERolE B JsEL N 47,000
ORTL+ENS MBI AY N 40,000
SO EMESE(NEZX/IENESR) 438,179,143 423,193,749 14,985,394
= 371,842,003
= 66,337, 140
HASE NAD BO=X A 181,203,536 163,041,514 18,162,022
= 165,148,335
= 16,055,201
HASE sEx 248,000 248,000 0
201 Yute At 5,000 5,000 0
01 AtS 22l b 5,000 5,000 0
OINEMESRAY =7 5,000
202 01 H 8,000 8,000 0
01 2ot 8,000 8,000 0
OHMASE XD Ho=X A8 8,000
308 X+ Xl &6 S0 & 235,000 235,000 0
01 HXSHIALEZ 235,000 235,000 0
Oxtae BN 235,000
AS=X XYW (=2D) 3,990,000 3,990,000 0
= 3,800,000
= 190,000
308 XtXI &+ &I S0 & 3,990,000 3,990,000 0




SN =XYYL

g EEUI_;_QEEQ(MEEXI/JI_%*O”%E@)
Sl HASS D HO=X CERED
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 3,800,000
< 190,000
01 IXNHHBNEES 3,990,000 3,990,000 0
o=k K& 3,990,000
= 3,800,000
< 190,000
L=0 5 SAXNE (=AM 22 XJ)(=1) 2,319,050 2,287,739 31,311
= 1,623,335
< 695,715
308 XX EHHSOIA 2,319,050 2,287,739 31,311
= 1,623,335
< 695,715
01 AXHHILEES 2,319,050 2,287,739 31,311
OL=2AE 29 & 2,319,050
= 1,623,335
= 695,715
L=0 5 SAXN(=sAAM4 Js22)(=1) 155,250 67,500 87,750
= 103,500
< 51,750
403 X SHHSA=0l& 155,250 67,500 87,750
= 103,500
< 51,750
01 HIXESHMA2E X 155,250 67,500 87,750
OL=A4 JIs2d X 155,250
= 103,500
< 51,750
MAZ0 X2 (=2) 170,129,566 150,426,000 19,703,566
= 165,631,000
< 14,498,566
308 XXM SOIA 170,129,566 150,426,000 19,703,566
= 165,631,000
< 14,498,566
01 AXHHILEES 170,129,566 150,426,000 19,703,566
OMA SN 170,129,566
= 155,631,000
< 14,498,566
=ss0 A& 174,970 338,100 A 163,130
308 MtXIEHMSOIH 174,970 338,100 A 163,130
08 uFJ|&20UetE=x 174,970 338,100 A 163,130
oussH 174,970
HMTHSH X (=2) 1,196,310 1,141,650 54,660
= 1,111,000
= 85,310
308 AHAIEHHSOIA 1,196,310 1,141,650 54,660
= 1,111,000




SN =XYYL

2
M R0 ZMBET(MISX /I EZMERE)
=
= t

Eelr MaASs A FHEX AE (&)
SA - BB B () - MM - BES Ol &t o San HmEET

< 85,310

01 IXNHHBNEES 1,196,310 1,141,650 54,660
(O FaFS PN =0 1,196,310
=2 1,111,000
< 85,310

IaHE 22 X (2 D) 586,950 953,525 A 366,575
= 546,000
= 40,950

308 XX EHHSOIA 586,950 953,525 A 366,575
= 546,000
< 40,950

01 X HHILEXS 586,950 953,525 A 366,575
OXAAAST =g X 586,950
= 546,000
< 40,950

2 20 XA (=) 2,053,000 3,264,000 A 1,211,000
= 2,053,000

308 AHAIEHHSOIA 2,053,000 3,264,000 A 1,211,000
= 2,053,000

01 AXNSGHBLAEES 2,053,000 3,264,000 A 1,211,000
OJl=== X $=ge X 2,053,000
= 2,053,000

ANENSHH 2L (=2) 254,500 221,000 33,500
= 254,500

307 glz2tol & 254,500 221,000 33,500
= 254,500

10 ALSISXAIEHE2EH EX 254,500 221,000 33,500
O 280230 NAHSMEH S 254,500
= 254,500

SE0Egx0 XNEEAF XA (=1) 13,000 15,000 A 2,000
= 13,000

308 XX EHH SOl A 13,000 15,000 A 2,000
= 13,000

01 AXHHILEES 13,000 15,000 A 2,000
O=sstolg=0l XN98gos 29 13,000
= 13,000

S5H0/gF NAEE 2H(2D)(HY) 13,000 9,000 4,000
= 13,000

201 L2 | 13,000 9,000 4,000
= 13,000

01 At 22l 3,000 3,000 0
OSss&tolg=e XA 3 Mzl 3,000
= 3,000

03 &Ar2 I 10,000 6,000 4,000




2N

SH: R0IEMEEE(MSSN/IELESE)
@2 HASE NEL S0=X 48 (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
O=S&0IE8x0 AAZSEY 10,000
= 10,000
SE0IEF0 XA 69,940 80,000 A 10,060
201 L2l 2,000 2,000 0
03 A2 Z Hl 2,000 2,000 0
O=8 080 HAHE =3|W= 2,000
307 21201 A 14,650 18,700 A 4,050
11 AMSSIAIEE S 14,650 18,700 A 4,050
O=& 080 AMIES 1= 5,000
O=ssolg=0 g8z 29 7,000
O=stolg=8 XAAs HE XA 2,650
308 XXM S0l A 53,290 59,300 26,010
01 AXSGHBLAEES 53,290 59,300 A6,010
OSsolEg=0IXH sy XA 19,950
O=solg=x=0 X =&yl XA 2,650
Ss01g=2 2888 H=S XA 4,800
O=80g8=x2 JNAS s X 15,000
O=stolEtHerd WwIdl XI& 1,890
O=8 082 ANHHEEZ X 9,000
2202 2 (Yd=230II32LSEIAH) 235,589,733 237,249,860 A 1,660,127
= 186,700,655
< 48,889,078
o230 S AHIA XA (=21) 229,297,360 233,320,830 A4,023,470
= 183,437,887
< 45,859,473
201 Let24d] 649,775 650,000 A 225
= 519,820
< 129,955
01 At 22l 649,775 650,000 A225
OSIE - HAx22 649,775
= 519,820
= 129,955
403 XXM S X201 228,647,585 232,670,830 A4,023,245
= 182,918,067
< 45,729,518
02 SJ|1 2SO0l CHSH At 2 X O & AF I 228,647,585 232,670,830 A4,023,245
o&zHl HES 228,647,585
= 182,918,067
< 45,729,518
Sz=0 AXNSMIAER(Z2D)(AZ) 3,582,414 3,216,067 366,347
= 3,262,768
< 319,646
308 XXM S0l A 3,582,414 3,216,067 366,347




2N

X ZH
S =

el

EPARSE )
PRI ZMEEH(AMIEX /I zME

= o =
ARS0HII2 2 (A2=0II2 2

2%)
o
SE3

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 3,262,768
< 319,646
01 IXNHHBNEES 3,582,414 3,216,067 366,347
o=o 2E =3 72,000
= 64,000
< 8,000
OL2Hl & HoHe 233 2 XN 1,350,864
= 1,200,768
< 150,096
o=¢e B 2d= 99,000
= 88,000
< 11,000
Oz &AL 705,600
= 705,600
OA LM EF X H 1,338,750
= 1,190,000
< 148,750
OozH 83 16,200
= 14,400
< 1,800
ES0HYR =4 119,240 213,840 A 94,600
201 €24 10,000 9,000 1,000
01 At 22l 6,000 6,000 0
O2A=2=( Let2d 6,000
03 & At2 Gl 4,000 3,000 1,000
Oz s 2CIAL HEF 4,000
202 Odl 10,000 10,000 0
01 = LH 4 Hi 10,000 10,000 0
oAz =& 10,000
308 XXM SO0l A 99,240 194,840 A 95,600
01 IXNHHBNEES 99,240 194,840 A 95,600
od&dEHl K& 99,240
ol Bl 8l 2,590,719 499,123 2,091,596
801 GilBI8l 2,590,719 499,123 2,091,596
01 Btolldltl 2,590,719 499,123 2,091,596
©uldl bl 2,590,719
vl g - g X 21,385,874 22,902,375 A 1,516,501
= 19,993,013
< 1,392,861
et 2 X9=X 858 F4 48,000 48,000 0
307 21201 A 48,000 48,000 0
11T AR S XA E =X 48,000 48,000 0
OXN AR &HE AS23HAY 25,000




2N
X ZH -
L= B

el

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OXNEHY A& M3 K& 10,000
oA ASHEZ XA 13,000
ez, NENEdy 2 Z9EdE2E(20) 17,375,547 19,329,564 N 1,954,017
=2 16,599,060
& 776,487
308 XX SHAHSOIH 17,375,547 19,329,564 N 1,954,017
= 16,599,060
& 776,487
01 AXHNBMNEXZ 17,375,547 19,329,564 N 1,954,017
oxnzz X 14,427,487
= 13,651,000
& 776,487
OXNGXEHMH 29 2,892,000
= 2,892,000
© KHEAFRI 22| 56,060
= 56,060
NHE22, N9NEdlH 2 ZENEdAH2E(20)( 496,457 482,500 13,957
xH)
2 347,520
o= 148,937
307 212t0| & 496,457 482,500 13,957
= 347,520
o= 148,937
10 MASXNAEEHESIHEX 496,457 482,500 13,957
OZ2AXEHH 2 496,457
= 347,520
== 148,937
22 sHEU=LSNAE LS XN (2D) 1,402,889 1,558,976 AN 151,087
= 1,402,889
308 AXISHXMSOoIH 1,402,889 1,558,976 AN 151,087
= 1,402,889
01 XHNBMNEXTZ 1,402,889 1,558,976 AN 151,087
o3z UISSEAMY 1 XN 993,892
= 993,892
ougIsss XA 408,997
= 408,997
D2RsAYSLTNALLSIA(2D) (M) 2,062,981 1,488,335 574,646
= 1,643,544
& 419,437
307 QI2t0| ™ 2,062,981 1,488,335 574,646
= 1,643,544
o= 419,437
10 Al SXAIEEE2IHIEX 68,406 66,414 1,992
OS|UINSEEAY 2 At 22l 2¥€H X 68,406
= 47,884




2N

SXE3
HH: R ZHEEH(AISX/IZHELE)
ool gYE NE - NE K (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 20,522
11T M SRAIS EX 1,994,575 1,421,921 572,654
O3 SSHEAMY 2 X 1,994,575
= 1,595,660
= 398,915
H=2 U2 HUlA Ma3(8a/22¢42%) 4,610,013 2,514,111 2,095,902
= 339,911
J| 1,813,300
< 2,456,802
SUEHAXNL 4,610,013 2,514,111 2,095,902
= 339,911
J| 1,813,300
< 2,456,802
PRr+50 d2Ha XA 6,160 7,700 A 1,540
307 glz2tol & 6,160 7,700 A 1,540
04 QIZFHALAIH B = 6,160 7,700 A 1,540
OEZR+=R0t d&Us X=& 6,160
Ot MR 2F 99,600 99,600 0
308 XX EHH SOl A 99,600 99,600 0
01 AXHHILEES 99,600 99,600 0
OX0It= stReln 24 99,600
O HAXA 2ol =3I At 32,400 32,400 0
308 MtXIEHMSOIH 32,400 32,400 0
01 HXNHHNBHEES 32,400 32,400 0
OO0t 2ol 29 32,400
e =5 A& 1,288,000 0 1,288,000
308 XX EHHSOIA 1,288,000 0 1,288,000
01 IXNHHNBMNEES 1,288,000 0 1,288,000
ot=ss XA 463,000
oYurs A2 2el XA 825,000
Les TA(=21) 1,759,920 1,171,200 588,720
J| 1,466,600
< 293,320
308 A EHHSOIA 1,759,920 1,171,200 588,720
J| 1,466,600
< 293,320
01 HXNHHNBHELS 1,759,920 1,171,200 588,720
odd=E: XA 1,759,920
J| 1,466,600
< 293,320
HE2U22d023 MEA(=1) 6,240 6,240 0
J| 5,200




SH =SNEMY
I e SNEA MHIA MS(2A/2A298)
e SUHEHXA (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
= 1,040
308 XX G SO0l & 6,240 6,240 0
J| 5,200
= 1,040
01 AIKSHHENMNEXZ 6,240 6,240 0
OE=2XNEHLEFH HE 6,240
J| 5,200
& 1,040
HFAGEMD AASA o2 AK(=2D) 28,800 30,960 A2,160
J| 24,000
& 4,800
308 MXISHMSOIA 28,800 30,960 A2,160
J| 24,000
& 4,800
01 IXHHIMNEXTZ 28,800 30,960 A2,160
OFAEAD AANMSA QS HI XA 28,800
J| 24,000
o=t 4,800
DASEAAMES2H| A (=21D) 138,000 142,320 N4 ,320
J| 115,000
= 23,000
308 XAHXIEH SO A 138,000 142,320 N4 ,320
Jl 115,000
= 23,000
01 AIXSHMENMNEX= 138,000 142,320 N4 ,320
OLNFAEUMES 2 Hl A& 138,000
J| 115,000
= 23,000
Ol=0F 2 AFAH0IA0F 92H| XN (=2D) 46,200 471,000 AN424 800
J| 38,500
& 7,700
308 XHXIGHH SO0l & 46,200 471,000 AN424 800
J| 38,500
& 7,700
01 AIXSHHENEXZ 46,200 471,000 AN424 800
O0|=0t & HAAEAH0IAO0F 9=Hl X 46,200
J| 38,500
= 7,700
SESEAIOI A 2 A Y Sor2el(=21) 178,800 181,200 A 2,400
J| 149,000
=} 29,800
308 XX SHHSOIH 178,800 181,200 A 2,400
J| 149,000
= 29,800
01 X HHINMNEEXTZ 178,800 181,200 A 2,400




2AH: SRS
Fo: W= INEA AL MB(2A/22423)
ol QTR AN (el @2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OLHEHAIOI & Z AL & Eot2tel 178,800
J| 149,000
< 29,800
HE IS (=1) 18,000 18,000 0
J| 15,000
= 3,000
308 XXM SOIA 18,000 18,000 0
J| 15,000
< 3,000
01 IXNHHBANEES 18,000 18,000 0
OH&EXII&HH 18,000
J| 15,000
< 3,000
XA ¢ ZHES NE(21) 407,893 353,491 54,402
= 339,911
< 67,982
308 MtXIEHSOIH 407,893 353,491 54,402
= 339,911
< 67,982
01 HXNHHBHELS 407,893 353,491 54,402
OJIMA & =HER N 407,893
= 339,911
< 67,982
S38=xcld X A& 600,000 0 600,000
403 XSS A=0l& 600,000 0 600,000
01 X SHMA2E X 600,000 0 600,000
oO33¢=xeld AX N 600,000
ENAGH BHAIH(MISXN/ES - IIFLUHY) 1,840,000 492,857 1,347,143
= 35,000
< 1,805,000
NEs HSEH 1,840,000 492,857 1,347,143
= 35,000
< 1,805,000
Mtz 29 =8 11,400 2,000 9,400
201 L4l 5,000 2,000 3,000
01 At 2t 2l 5,000 2,000 3,000
OMEMHHAZ 2 5,000
202 odl 6,400 0 6,400
01 S LHOIYI 6,400 0 6,400
OMELHHH ALY =& 6,400
CHAtEOHE SEX& 428,600 448,000 A 19,400
308 MtXIEHMSOIH 428,600 448,000 A 19,400




2N

SXE3
HH: sHMEsA S#IXL(MISN/ES - IIELAHY)
Sl HEM HSHY (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HIXNHHNBHNEES 428,600 448,000 A 19,400
OCHHIIE SEXA 428,600
MERR ANz WE0IAH X& 1,200,000 0 1,200,000
301 et A= 1,200,000 0 1,200,000
01 MEIBEE 053 1,200,000 0 1,200,000
otess ==I=sX 0l X& 1,200,000
MEM3= HWERT 243 XA 150,000 0 150,000
307 21201 A 150,000 0 150,000
02 LAFLAFEX 150,000 0 150,000
OZ&d ME4=32= UERZT 43t N2 150,000
MNEstn@Asl el SUAANE XA (=1) 50,000 42,857 7,143
= 35,000
< 15,000
307 gl2tol & 50,000 42,857 7,143
= 35,000
< 15,000
11T M SXAISE EX 50,000 42,857 7,143
ONMEAN 25 QAN Z20H X 50,000
= 35,000
< 15,000
28 0l NA(MI=X/ES - HFLHY) 270,470,091 254,467,497 16,002,594
= 167,986,397
J| 2,667,149
< 99,816,545
Ots=EXAMEA XI& 20,942,059 20,881,842 60,217
= 11,845,739
J| 2,667,149
< 6,429,171
ES0ts #dsd 71,000 75,000 24,000
201 L4l 6,000 6,000 0
01 At 22l 6,000 6,000 0
ooots=x2d A3 2949 5,000
O0Eolg I8 A 1,000
307 gl2tol & 65,000 69,000 A 4,000
11T M XA EX 65,000 69,000 A 4,000
OUEole I8 &AL 6,000
OAHOlEs RAdE2H 29 45,000
ootsXZzHt 29 7,000
sso2e 2+ Uoe 7,000
otE=sEXlN2 249 82,852 71,000 11,852
307 21201 A 82,852 71,000 11,852




AN SXEHD
M B 0l NA(MI=SX/ES - IHESL0HH)

& otsEXAMEA XJ (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
10 AL SXNAIEEE2EH EX 82,852 71,000 11,852
250ts ANEXNJTEI 2 29 82,852
OtSEXAIE SALR 1= 11,000 11,000 0
201 LBt 3,000 3,000 0
01 At 22l 3,000 3,000 0
OOtSSXAE SAX 1= 3,000
301 et A= 8,000 8,000 0
09 SALEHIE &S 8,000 8,000 0
OusEAI AMHIE4 8,000
Ots=4 X3 786,728 787,728 A1,000
202 O4dl 6,000 6,000 0
01 = LH 4 bl 6,000 6,000 0
O0tssS A ALY =2 6,000
308 XXM SO A 780,728 781,728 A 1,000
01 AXHHILEES 780,728 781,728 A 1,000
ogsts ots=4 773,228
OZAols SAEHEYE 2SI 7,500
250t 4oty X& 277,000 259,318 17,682
308 XX EHSOIA 277,000 259,318 17,682
01 HIXNHHBNEES 277,000 259,318 17,682
250ts MEHE & 277,000
ANYGotsdH 298 N (212) 5,548,927 5,544,725 4,202
= 4,624,107
< 924,820
308 XtXIEHHSOIA 5,548,927 5,544,725 4,202
= 4,624,107
< 924,820
01 AXHHILEES 5,548,927 5,544,725 4,202
OXdotsdE 29 5,548,927
= 4,624,107
= 924,820
XNHOISHE S42®s X2(2D) 270,444 283,651 A~ 13,207
=2 225,372
< 45,072
308 MtXIEHMSOIH 270,444 283,651 A 13,207
= 225,372
< 45,072
01 HXNHHBHELS 270,444 283,651 A 13,207
OXZTotsHH S+=35d 292 270,444
= 225,372
< 45,072




2N
X ZH -
L= B

el

SXE3
2 0ts NE(MI=EX/ES - HEL0AHA)
OFSSXAH A K&

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ANEotsdyH EQ2Y9 XNE(=1) 242,956 240,199 2,757
2 202,464
< 40,492
308 AHAIEHHSOIA 242,956 240,199 2,757
= 202,464
< 40,492
01 HIXNHHNBHELS 242,956 240,199 2,757
OXgolsdH ERQY 29 242,956
= 202,464
< 40,492
OrSEX A XA (=1) 1,378,944 1,378,944 0
= 1,149,120
< 229,824
308 XXM SO A 1,378,944 1,378,944 0
= 1,149,120
< 229,824
01 AXHHILEES 1,378,944 1,378,944 0
OXNSGOt=sHE Ots=SX A XI& 1,378,944
= 1,149,120
< 229,824
ANYotsdH NAE 2L (21) 175,000 175,000 0
= 87,500
< 87,500
307 21201 A 175,000 175,000 0
= 87,500
= 87,500
10 M2 SXNANEHE2IHEX 175,000 175,000 0
OXgotsdH XN3AH 24 175,000
= 87,500
< 87,500
ANSEotsSHEH Hotet 2GR (=22) 29,826 29,826 0
= 14,913
< 14,913
307 glz2tol & 29,826 29,826 0
= 14,913
< 14,913
10 AL SXAIEEE 2 H EX 29,826 29,826 0
OXgotsHdy &t XA 29,826
= 14,913
< 14,913
XHOISHE 2 248,100 252,574 A4 4TS
308 XXM SO A 248,100 252,574 N4 AT4
01 AXHHBISEES 248,100 252,574 A4 AT4
OXdotsdE 2¢9 252 N& 204,000
OXYotsdH SAE<0 XA 44,100




2N
X ZH -
L= B

el

SXE3
2 0ts NE(MI=EX/ES - HEL0AHA)
OFSSXAH A K&

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
AGotsdH JIs2d K& 20,000 0 20,000
403 UHXISHHSA=0l& 20,000 0 20,000
01 XM= E L 20,000 0 20,000
OXYotsdH JIs2d XA 20,000
ANE0otsdEH 20 FHS WA XI& 38,000 42,000 A 4,000
308 XX EHH SOl 38,000 42,000 A 4,000
01 HIXNHHNBNEES 38,000 42,000 24,000
OZ0 FNHLWA XA 38,000
NEOtSHE SALA = 18,600 18,600 0
201 Let24E] 2,000 2,000 0
01 At 22l 2,000 2,000 0
OXNSOtSHEH SALAL W= 2,000
301 et Az 5,600 5,600 0
09 EAEHIE &S 5,600 5,600 0
OusFAL &AH 24 5,600
307 glz2tol & 11,000 11,000 0
11T M Z2XAIS EX 11,000 11,000 0
OXSotsHH =H &0te X 11,000
YAots =g NA(=1) 659,558 752,119 292,561
J| 607,488
< 52,070
308 XXIEHHSOIA 659,558 752,119 292,561
J| 607,488
< 52,070
01 AXHHBILEES 659,558 752,119 292,561
ogAlts e+ 659,558
J| 607,488
< 52,070
=il 2XRE(21) 23,829 23,736 93
J| 21,948
< 1,881
308 MtXIEHMSOIH 23,829 23,736 93
J| 21,948
< 1,881
01 HIXNHHNBHNEELS 23,829 23,736 93
oYL=l 2X X 23,829
J| 21,948
< 1,881
s XA (=1) 61,171 42,746 18,425
J| 56,342
< 4,829




AN SXEHD
M B 0l NA(MI=SX/ES - IHESL0HH)

e OISEXAHA X (e H)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
308 XHXIEHSO|A 61,171 42,746 18,425
J| 56,342
& 4,829
01 AIXSHMEMNEX= 61,171 42 746 18,425
ot E XA 61,171
J| 56,342
=} 4,829
ZOotE duAsEX2(=21) 68,403 69, 102 A 699
J| 63,003
& 5,400
308 XHXIGHH SO0l & 68,403 69, 102 A 699
J| 63,003
& 5,400
01 IXHHNIMNEXS 68,403 69, 102 A 699
OXMOIsS YdAAFEXZ X 68,403
J| 63,003
= 5,400
Qlerots JIE XY 20,500 18,000 2,500
307 2I2t0| & 5,000 0 5,000
11 A EXAIEE X 5,000 0 5,000
OYAoNd J1gAl 5,000
308 XHXIEHSOIA 15,500 18,000 A 2,500
01 AIXSHMEMNEX= 15,500 18,000 A 2,500
oOYAs=st=2 XA 15,500
RESOIE OEE B35 29X (=21) 691,717 575,550 116, 167
J| 532,090
& 159,627
308 XXIGHMSO0|& 691,717 575,550 116, 167
J| 532,090
& 159,627
01 IXHHIMNEXS 691,717 575,550 116, 167
OREsSIs 188 5 29 & 691,717
J| 532,090
== 159,627
IIEQAEOIS AlHEE 2 X (=21) 58,520 66, 196 NT,676
= 53,900
= 4,620
308 XX SHHSOIH 58,520 66, 196 NT,676
= 53,900
o= 4,620
01 AIXSHMENEXZ 58,520 66, 196 NT,676
oMdlE2g = X& 58,520
= 53,900
= 4,620




AN SXEHD
M B 0l NA(MI=SX/ES - IHESL0HH)

¢ otsSSEXAMUA X (cho &)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
Qlok . JIAQENOIS Al2IX2 XA (=2D) 11,577 5,003 6,574
2 10,663
& 914
308 XAHXIEHSOIA 11,577 5,003 6,574
= 10,663
= 914
01 AIXSHMENMNEX= 11,577 5,003 6,574
oYY - JIE/AEOsS AMelxlEdl K& 11,577
= 10,663
=} 914
OlSEYXFHZI N (=2D) 670,648 625,083 45,565
= 617,700
= 52,948
308 XNXIGHSO0l& 670,648 625,083 45,565
= 617,700
= 52,948
01 HXHHBIMNEXS 670,648 625,083 45,565
OCDA DHE X &A= 670,648
= 617,700
= 52,948
OtsEXA4 JlsE2d X (=21) 27,830 529,274 AB01,444
J| 21,408
=} 6,422
403 XX S M S K201 A 27,830 449,274 N421,444
J| 21,408
= 6,422
01 IS A2E X 27,830 449,274 N421,444
OOsS=EXNAIAE W2+ X 1,830
J| 1,408
& 422
O0IsEXN AL HHEZ X& 26,000
J| 20,000
o= 6,000
OISLANESAE 29 571,269 464,700 106,569
307 QI2t0| ™ 571,269 464,700 106,569
10 MM SAANEEHESIGHEX 571,269 464,700 106,569
OOSLANESAE 29 571,269
OlsSEsdE0|2 2Y9(=21) 2,306,652 1,900,710 405,942
Dl 1,153,326
= 1,153,326
307 212t0| & 2,306,652 1,520,568 786,084
J| 1,153,326
o 1,153,326
10 AISIEXAIEEHE2IHIEX 2,306,652 1,520,568 786,084
OllsESEZII& 29 2,306,652




2N

X{ XH -
S =

£l

EPARSE )
2 0ts NE(MI=EX/ES - HEL0AHA)

DO sSEXAMEIA X

% SKE|
SA-E B (3H) - MBAY - BES Ol &F o4 %@ﬁ HD=2
Jl 1,158,326
& 1,158,326
stifmloiols &8 &d9(=1) 275,008 263,058 11,950
Dl 211,544
= 63,464
308 AXISHXMSOIH 275,008 263,058 11,950
Jl 211,544
= 63,464
01 AXHNBMNEXTZ 275,008 263,058 11,950
ostHudiorisaH 299 275,008
Dl 211,544
& 63,464
Z2HI|2 29 477,000 180,000 297,000
307 QI2t01 ™ 477,000 180,000 297,000
0O AN SXAIEEIES2IHIEX 477,000 180,000 297,000
OZ2dJ|I& 89 477,000
IIEAE XN EEH 29 419,000 257,000 162,000
307 212t0| & 419,000 257,000 162,000
10 AIRISEXAIEEHE2IGHIEX 419,000 257,000 162,000
OJIE/AEXNJANH 29 419,000
CZAEE SsAta 22 (=21) 4,860,000 5,400,000 A 540,000
= 4,860,000
308 XX S M SO0l & 4,860,000 5,400,000 A 540,000
= 4,860,000
01 AXHNNBMNEXZ 4,860,000 5,400,000 540,000
O0ts S8 AHHlA X 4,860,000
= 4,860,000
We start Ol 2% 540,000 540,000 0
308 AXISHMSOIA 540,000 540,000 0
01 HXHHNBIMNEXS 540,000 540,000 0
OWe start Ot At X & 540,000
S AHA 235 249,528,032 233,585,655 15,942,377
= 156, 140,658
& 93,387,374
BEAIY S& 13,000 14,000 A 1,000
201 et Y| 7,000 8,000 A 1,000
01 At 22l ] 7,000 8,000 A 1,000
OESHIAAS 29 7,000
202 04| 6,000 6,000 0
01 2L Y| 6,000 6,000 0
BFAIY =& 6,000




2N
X ZH -
L= B

el

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
B2z B2EERHEa A 1,365,000 105,600 1,259,400
308 XXX S0 A 1,365,000 105,600 1,259,400
01 AXSHBAELS 1,365,000 105,600 1,259,400
oE=sz 22RE3a & A& 1,365,000
SIS XNAMH 29(=21) 472,726 469,284 3,442
= 236,363
< 236,363
307 g1+l & 472,726 469,284 3,442
= 236,363
< 236,363
10 M SXNANEHE2IHE=S 472,726 469,284 3,442
T SOHEENALH 298 XA 472,726
= 236,363
< 236,363
ANZ SOIXJMH s XA (=21) 12,000 12,000 0
= 10,000
< 2,000
308 XXX SOIA 12,000 12,000 0
= 10,000
< 2,000
01 AXNHHZBANEES 12,000 12,000 0
OAlZ S0EEXNJALH H3Ls XA 12,000
= 10,000
< 2,000
FSOISEXNJAHEH 29 XN 21,400 21,400 0
308 XXX SO0 21,400 21,400 0
01 AXNSHBLEES 21,400 21,400 0
OANZESO0ESEXNAEH 28 XA 21,400
Oglold nd B4Ns(=1) 59,396 59,396 0
= 29,698
< 29,698
307 glz2+ol & 59,396 59,396 0
= 29,698
< 29,698
11 ASI S XA E X 59,396 59,396 0
O0elold R Bxus 59,396
= 29,698
= 29,698
Heold gst=EdH=a XA 72,000 80,200 A 8,200
308 XX EHSO0IA 72,000 80,200 A 8,200
01 IXNHHBANEES 72,000 80,200 A 8,200
OMASE Ols gstEHI=S NE 72,000




2N
X ZH -
L= B

el

SXE3
2 0ts NE(MI=EX/ES - HEL0AHA)
S AMEIA Z3

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ooy 32 XA 227,060 227,060 0
308 AHAIEHHSOIA 227,060 227,060 0
01 HXNHHBHELS 227,060 227,060 0
ongold & &o N 227,060
OHelold sZHe X (=21) 480,591 604,954 A 124,363
= 369,685
< 110,906
403 MtXISHH S =0l & 480,591 604,954 A 124,363
= 369,685
= 110,906
01 XM A2E X 480,591 604,954 A 124,363
ONEold SH= 113,354
= 87,195
< 26,159
ONEold HE= 346,437
= 266,490
< 79,947
ooy Fdl22 20,800
= 16,000
< 4,800
Heold naAF HRHMe X 1,440,800 1,440,800 0
308 XXIEHHSOIA 1,440,800 1,440,800 0
01 XML EES 1,440,800 1,440,800 0
O0eold nAA HRIHML XA 1,440,800
HE0l& SAR d=24 M1 53,000 53,000 0
307 21201 A 38,000 38,000 0
11T AL SXAIEE = 38,000 38,000 0
O0eold 2252 M1 248 2 W=s X 38,000
308 XX EHHSOIA 15,000 15,000 0
01 IXNHHBNEES 15,000 15,000 0
OZJ0eolE sotsia 15,000
gotEss XN (=21) 98,933,584 88,949,454 9,984,130
= 88,825,000
< 10,108,584
308 XtXIEHH SOl A 98,933,584 88,949,454 9,984,130
= 88,825,000
< 10,108,584
01 AXHHILEES 98,933,584 88,949,454 9,984,130
ogdrotEsz= XA 98,933,584
= 88,825,000
= 10,108,584
NZHHESAHEIA M3XA(=21) 339,971 493,684 A 153,713




2N
X ZH -
L= B

el

SXE3
2 0ts NE(MI=EX/ES - HEL0AHA)
S AMEIA Z3

SA - BB B () - MM - BES Ol &t o San HmEET

= 261,514
< 78,457

308 XX EHHSOIA 339,971 480,684 A 140,713
= 261,514
< 78,457

01 HIXNHHBNEES 339,971 480,684 A 140,713
OAZH EsAHHA HMZ2 X 339,971
= 261,514
< 78,457

Sy 253 K& 67,358,880 65,566,680 1,792,200

308 XtXIEHH SOl A 67,358,880 65,566,680 1,792,200

01 AXHHIYEES 67,358,880 65,566,680 1,792,200
Ocltd 282 K& 67,358,880

It gssg N (22) 33,908,112 32,776,292 1,131,820
= 30,312,000
< 3,596,112

308 MtXIEHMSOIH 33,908,112 32,776,292 1,131,820
= 30,312,000
< 3,596,112

01 HXNHHNBHEELS 33,908,112 32,776,292 1,131,820
oinzggs==4 XA 33,908,112
= 30,312,000
< 3,596,112

S3E0e0d XA (=1) 3,174,660 2,990,000 184,660
= 2,568,000
< 606,660

308 XX EHSOIA 3,174,660 2,990,000 184,660
= 2,568,000
< 606,660

01 IXNSHHBNEES 3,174,660 2,990,000 184,660
o=z3g0gold XA 3,174,660
= 2,568,000
< 606,660

HIZOHOt e B2 42,283 78,000 A35,717

308 XXIEHHSOIA 42,283 78,000 A35,717

01 AXHHILEES 42,283 78,000 A35,717
OHIZHoL &t B2 42,283

22 ZUHEH 2E XA (21) 44,590 44,720 A130
= 34,300
< 10,290

308 XX EHH SOl A 44,590 44,720 A 130
= 34,300
< 10,290

01 AXSHBLELS 44,590 44,720 A 130




2N
X ZH -
L= B

el

SXE3
2= 0ts XN (AtE
S AMEIA Z3

It
P}
I
Ho
=
B[y
He
X
0x

SA - FE - BI(EA) - NRAY - By 0l &t San DS

ORZ ZUHEH 23 X& 44,590
= 34,300
< 10,290

BSDIY QAY NA(22) 30,713,351 29,616,938 1,096,413
= 24,702,400
=) 6,010,951

308 XXM SOIA 30,713,351 29,616,938 1,096,413
= 24,702,400
=) 6,010,951

01 X HHBILEES 30,713,351 29,616,938 1,096,413
EswAA A4 XA 30,713,351
= 24,702,400
< 6,010,951

ESWEY H2MH X (22) 9,995,857 9,122,384 873,473
= 8,150,531
< 1,845,326

308 MtXIEHSOIH 9,995,857 9,122,384 873,473
= 8,150,531
< 1,845,326

01 HXNHHBHELS 9,995,857 9,122,384 873,473
OEEuAA HRML XA 9,995,857
= 8,150,531
) 1,845,326

ol X(=1) 799,771 859,809 A 60,038
= 641,167
=) 168,604

308 XXM SO0 A 799,771 859,809 A 60,038
= 641,167
=) 168,604

01 AXHHBAEES 799,771 859,809 A 60,038
oogold X& 799,771
2 641,167
< 158,604

HYSHAH (SX =) (IIEHIIE) 133,204 127,317 5,887
= 46,053
= 87,151

Jl23l 60,937 58,177 2,760

FA2Y JIE23H 60,937 58,177 2,760

201 Let24E] 36,937 36,937 0

01 AFR 22l 35,937 35,737 200
ORAN2Y AR 22l 35,937

02 =24l 1,000 1,200 A 200
ORN2YE 2329l 1,000

202 04l 13,800 11,040 2,760




2N
X ZH -
L= B

el

02 Jg
):4:|
o B

H(SXE21)(J1EHIIE

Mo oxd =
0 HO 0X
02 J

~
==

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 = LH 4 bl 13,800 11,040 2,760
ORM2E =L 13,800
203 YR =2t 10,200 10,200 0
01 JIZ2Z YR 6,000 6,000 0
o= 6,000,000 6,000
04 REN2ELRZ=TH 4,200 4,200 0
©302! oIt 350,000& »12& 4,200
AHASIH(AESHII2RESLEIA) 72,267 69, 140 3,127
= 46,053
= 26,214
Sz E2A 2E(21) 72,267 69, 140 3,127
= 46,053
< 26,214
101 1244 dl 72,267 69, 140 3,127
= 46,053
< 26,214
03 RIAHAZZ2E = 72,267 69, 140 3,127
Oz z= 0 &elAr(2Y) 57,567
= 46,053
< 11,514
Oz At 403 14,700
HEeES(SXNEH) (MBS /FHLAHSKH) 23,459,815 23,453,301 6,514
WHEHHXZ 23,459,815 23,453,301 6,514
odzz=a0WIla NA 23,459,815 23,153,301 306,514
701 JIEtSI HEEES 23,459,815 23,153,301 306,514
01 JIEtel HE &= 23,459,815 23,153,301 306,514
OA=SHIISSEESH 8= 23,459,815




